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God sent His Son so

. .o
the world could be saved. How can we come into the light”

Put the pictures in the correct order. Write the beginning sounds.
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Why did Jesus say God o
\ the Father sent Him? What does Jesus say the verdict is?

The letters spelling 2 opposite words are scrambled
together in the picture below. Unscramble them to find 2
opposite words. One word will be used twice below.

Follow the instructions
using the letter block to
fill in the blanks.
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o oX K K° O O KR K S O° of because their deeds were evil”




